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2 AT RE R TT

W44

(2x — 6)(2x% + x + 2) — (4x + 2)(6x + 4)

(2% — 2x+ 4)(2x — 4) + 5 x 3x+ 2

(5% + 3x— 4)(2x+ 6) + 1 x 2x — 3

(4 + dx— D)(x+ 1)+ Lx+ 1

(4x* + D3x+6) — % +3x— 6

H #A:

o
=

(4x* = 5)(x—2) + 2 +x+5

4x — (1 - 3x)(2x — 6)(2x + 6)

2x — (3 - 3x)(2x — 5)(6x + 4)

x— (6—6x)(5x + 2)(x + 6)

(3x® — 6x+ 1)(3x—4)— 3 x 3x— 4
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2 AT RE R TT

W44

(2x— 6)(2* + x+ 2) — (4x + 2)(6x + 4)
453 — 34x% — 30x — 20

(22 = 2x+4)(2x— 4)+ 5 x 3x+ 2
473 — 126 +31x— 14

(5 + 3x—4)(2x+ 6) + 1 x 2x— 3
10x3 + 365> + 12x — 27

@ +4x— D+ 1)+ lx+ 1
4% + 8x% + 4x

42+ DGBx+6)—X¥ +3x—6
1223 + 233 + 6x

(4> = 5)(x—2)+2¢ +x+5
4 — 6x2 —4x + 15

4x — (1 - 3x)(2x — 6)(2x + 6)
12x° — 4x* — 104x + 36

2x— (3= 3x)(2x — 5)(6x + 4)
36x° — 102x% + 8x + 60

x— (6—6x)(5x + 2)(x + 6)
30x° + 162x> — 119x— 72

(B3x?— 6x+ 1)(3x—4)—3 x3x— 4
9> — 30%° + 18x— 8
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